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RS 1 103 KkH =EE R TESR T 1 1 34 45910
2 114 IWH M& HMHEER T 1 2 21 47.070
3 112 RIF Mm% Tk PR 12 3 13 47.280
4 101 W& &7 Vortex 1 2 4 8 47510

EREE 5 104 mn EE HHEER 2 3 48.300
6 113 #Ha &BX Mlaaleale sy 2 3 48.510
7 102 AH M ALEX 2 4 48.390
8 105 FIER HERK HHER 2 DNF 48.570

T 9 117 Mg 1L ERAT—NDEH 3 50.200
10 108 ® EHK MAMBES I ER 3 50.540
11 116 RIER JREsm FHERNER 3 50.920
12 110 BH BA B 2R 3 55.840
13 115 IH #X EHERPZR B) 4 50.700
14 109 KFE &S BAWES W& 4 51.410
15 106 5% EE EHERHER (IR) 4 52.920
16 107 &H E% BRI 4 56.150
17 111 ®E Ko BB 2R 5 1.10.100
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